FIRGUs AT IFEUT Td TRIETT aRve = SRS
T At gdieT 2022-23

AlSd 92 97

e 1

a1 10 avg- arforey-

eI @Iar dUT T AT & ded

gAI- 1.30 Hrs

quites- 40

AT Ader-:

> DAL TRAR]
> g vt & 3T AT B

> Ul U & [l Ueh 37 [AuTRT &
> Ucdeh U & IR faded fGuare &1 T8 Ahea &1 aaa fifa|

> ITeId 30X & [T IS 37k T8T FhIe

Q1.=me] HYAT & 3&Tg0T § -Examples of current assets is /are:

Tgfa=r (Closing Stock)  (c) &gk (Debtor)

SATGar|

(d) =137 s (All of these)

(a) Tws (Cash)

(b) 3ifaeT

Q2.9Tcd e &7 o@r fhg @ & giar g?(Discount received is included in which account ?

(a) 8T BT Wrar (P/L Account) (b) 3nf¥e-fcar (Balance Sheet)

(c) IR @rar (Trading Account) (d) 31T - <II grdr (Income Expenditure Alc)

Q3.=49R @1aT fha 9&R &7 @1ar g ? (Which type of Account is Trading Account ?)

(a) =afFd9ra @rar (Personal Account) (b) ar&dfdes @TT (Real Account)

(c) ATHATT &1 @iar (Nomianl Account) (d) 3ded @rdl (Suspense Account)

Q4. afe fasa 5500 Fo TAT el oty 1200 Fo g df o IR AT FT oETT 47 g&i ? (If sales is

Rs 5500 and Gross Profit is Rs 1200 what is the cost of goods sold ? (a) 4500 o

Fo (c) 4300 wo (d) 5500 ®o

Q5.fAFT # i @ 3T wFafr § ? (Which of the following is Intangible Assest ?)

(a) 91f# (Land)(b) =i (Goodwill)(c) #asT (Building)(d) ®eifer (Furniture)

Q6. T & ¥ +lT & O =gg &r & ? (Which one is not a Financial Expense?)

(a) FOT 9 sI1ST (Interest on Loan )

(c) eI (Charity)

(b) Yo WX =&TT (Interest on capital)

(d) & @< (Discount Allowed)

(b) 6700

Q7.t% faf¥ 99w w 8l Tufa 3R arffica &1 IrRier 8- Is the summary of all assts and liabilities

(a) dege Trial Balance (b) @meT gIfer W Profit & Loss alc

(c) fdcar Balance sheet (d) 318 TT All of these
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Q7. Ush 3= HUM 87 §- ..is not a fixed asset (a)UHsCash (b_3TFRT HeireR(c) ¥ land (d)
@ All

Q8. 31H & i IT SAUIRS TIdT dellel HI oS el & Which of the following is not an advantage
of making trading account:

(a) AT T oWTT FI SATRRT knowledge of cost of goods
(b)JetelTcHeh 3EITT comparative study

(c) @I 9T fAIFUT control over expenses

(d)STeIR & HgIMs I fAIT0T control over the market

Q9.fAFT # &l & T |Fafr § 2 (Which of the following is tangible Assest ?)

(a) $f# 3R #1aeT Land & Building (b) weiteR 3R e Furniture and fixtures
(c) I 3R 7ML Plant & Machinery (d) s T All of these
Q10. d= APHY ==@OR & foT & Bank overdraft is a ___ for the business.

(@) @ expense (b)3TT income (c) TURT assets (d)eTAca liability
Q11. 3787 ¥ Piadr gfdamaT $r fFAvar sigf & Among the following, which is not a feature of a
Promissory note?

(a) 3T Fhad &l geTdR gld g(Only two parties) (b)3d oledeR for@dr g(written by creditor)

(c)3EH i T T 7E glc(Acceptance not required) (d)3EH WS TTecdehdl el o
dehcT(writer cannot be the payee)

Q12797 @I 3T dr EUfT 7 fhdel 97 W g?How many parties are involved in case of

discounting of bill?
(a) & Two (b)disT Three (c)Ush one (d)3rfAT Unlimited

Q13.9T FI 3UFA & AT YT H  Tdledl HeAT Ig Th | Posting Salary in debit of Furniture
Alc is a

(a) T 1 3efer Errors of Casting (b)@dler T 3G Errors of Posting (c) 3T o Sfiet T
3eef® Errors of carrying Forward (d) 3131 & @i 161 : none of these

Q14.gur T TRe & RERTT & Fahell T

(a)uwuefim (b) gfauefim  (c) vwuslT ar gfauefm (d) 397 & g #&T (none of these)
Q15. 3[ag & feeT fhaar fAeld &2 Which of these get days of grace?

O RIGEILE] (b) o (c) I& (d) &I & &S 7T : none of these



Q16. S oI@sh- X fAHAAIIT & dh @ A1 ST & (When the bill of exchange is discounted
from the bank by drawer X. Journal Entries in the books of A's (ef@® & @id H Yfafte &)

(@) B/R .Alc Dr (b)Cash ...A/c Dr (c) Cash.... Alc Dr
To Cash To B/R Discount Alc ... Dr
To B/R

(d)g=Tet & IS A& none of these

Q17. 30T S Feufd 7 eperdreT v SFaany 18Il gln condition of dishonour liability of
payment is of .
(a)d=(Bank) ( b)EdrRdT( Acceptor) (c)er@eh(Writer) d)3aTH q FIS AT

none of these

Q18. Ifg faux &1 e T 9eThR &I 99T T fear ar3m g 3R fauy 3wfafsa g srar § ar o
g H YA I CaNT ATl fhT ST &

(a)saedrT (Endorcee) (b) SaTiehdl (Endorcer) (c) Tehdr  (d) (d) ST & FIS G (none

of these)

Q19, , 5l A & B & 9rcg faua WX Elipfd 9red T (When A received acceptance of the bill from
B.) Journal Entries in the books of B's A/c (¥l & @i & gfafse )
(a)B's Alc ... Dr. (b) A's Alc....... Dr. (c) Cash Alc... Dr.
To B/P To B/P To B/P
(d)3# & HIS AET (none of these)
Q20. de9e & o fAde 9T T & YR &9 & @1 ST g (In case of non agreement of Trial
Balance the amount is temporarily put to)
(a)elsleR @rd # (Creditors Account) (b)eT-I& WId # (Suspense Account)
(c)TEfaar @ 7 (Stock Account)  (d)@TeT ey @raT (P/L Account)

Q21.37&d STT H.. (Outstanding Expenses are ...):
(a) TSI @raT & A1 fohar arar § 3R ufa faavor & geafa awr & fe@rar Srar &1 (... debited to

Profit & Loss A/c and are shown in the Asset Side of Balance-Sheet.)

(b) STH-gIfA @IaT H A7 fhar Sirar g AR Fufa awor & gifi¥fica # fG@mr Srdr g1 (....debited to Profit

& Loss A/c and is shown in the liabilities side of Balance-Sheet.)

(c) emH-gife W1 # AT foham Srar § 3R Rufa faavor & giffica smer & fG@mar Smar g1 (....credited to

Profit & Loss A/c and is shown in the liabilities side of Balance-Sheet)

(d) 38 & FI$ FET| (None of these.)

Q22397 3T (Accrued Income)
(a) T SR @1 H S1AT fRar srar § 3R ufa aver & aeafa smer & R@mr Smar €1 (is credited to

Trading Account and shown in the Asset side of Balance-Sheet)

(b) I -G @rar & 7 forar arar § 3R Reufa faavor & gwafa smer & fe@rar Srar 81 (is debited

to Profit & Loss A/c and is shown in the Asset side of Balance Sheet)



(c) T SMH-gTeT @i H STAT fRar Srar § 3R Rufa-faaver & gif@ica et & fq@rar Jrar g1 (is credited

to Profit & Loss A/c and is shown in the liabilities side of Balance-Sheet.)

(d) 3T & SIS 7AET| (None of these.)

Q23. ARSI & &F 3'|é 3ifae wiaar (Closing Stock given in adjustment) -
(a) SMTH-BTT @rar & STar v Sirar & 3k fufa ot & aifRca st & fR@rar Sirar &1 (is Credited to

Profit & Loss A/c and is shown in the liabilities side of Balance-Sheet.)

(b) SITIR @TaT # AT fohar Srar g 3R Rufa fGaxer & aeafa awer & fg@mr Smar g1 (is Credited to

Trading A/c and is shown in the asset side of Balance Sheet)

(c) emH-gIfey Wrar & ST aar T faaver & @eufa smer &7 R@mar Srar €1 (is Credited to Profit & Loss

A/c and is shown in the asset side of Balance-Sheet.)

(d) 3T & FIS 7AET| (None of these.)

Q24.d4% FATY a0 §A1=T ST § (Bank Reconciliation Statement is prepared by)
(a) d SdrT (Bank) (b) FAER CdRT (Creditors)

(c)3TheTh CART (Auditor)

(d) S & aITEH SdRT (Customer of Bank)

Q25. S FATY [GaRor s« & fow Qv forar Jrar %.(Which balance is taken to pepare Bank Reconciliation
Statement)
BREEHE qrHgs 1 Y (Cash Book or Passbook Balance)

(b) GTHER =T QY (Passbook Balance)
(c)oT ar Apg d@r &1 AV 3R o & RINECaT] Y (Neither Cash Book Balance
Passbook balance) (d) 38 §&r & AV (Cash Book Balance)

Q26. 9THEeh sTehel & (Passbook is a Copy of)

(a) fﬁ%’-ﬂﬁ A do graes EZIH?RT @l (banking tansactions in Cash Book)

(b) STTATT FHT FATT Tfeaar va Si?'IF!TﬂT T (all the receipts and payments of busin
(c) HY 3G SIGgRT &l (all the Cash transactions)

(d)aﬁ? CART §eTv I Grar Hr (accounts prepared by Bank)

Q27.3Fm' T Sl Uhs g1 Fr fadwar %’ Which of these is the a feature of Cash Book
(a)$'\'=|?§f dAdhe AR 3UR Er=glal oledcar & @ae fohde IW@T SATAT & Recording of cash and credit

transactions
(b)fafdar SsIcaT #r for@er i 3TaeIHAT ST6T 8T No need to enter transactions date wise.

(c)Ie "eldsh EI%T d 9T Elﬁ & PR o T %’ Cash Book acts as a Subsidiary Book and a Principal Book
(d)None of these.

Q28. BT Ahs 8T I Uhs TAFH I §HLAT BT & (Cash Column of the three columns Cash Book

always has)
(a) STAT 3MTFA(Credit Excess ) (b) @I H & &S TS (Any of the two)
(c) I8 3TTFT (Debit excess) (d)3TH T FIS 8T (None of these)



Q29.2T qux Tderdr & foT (Bills Payable is a/an for the Acceptor)
(a)8T=l g(Loss) (b) 37T &(Income) (c) Tufd(Asset) (d) 37 & HIs AT

Q30.51 9 ﬁl’t% U o9 AT SITdr % Depreciation is calculated only on
(a) TUfAAT (Current Assets) (b)alol F9faAT (Liquid Assets) (c)TATY HYfIAT (Fixed assets ) (d)é?-m' Ee) Elflé'
8! (None of these)

Q313 & i el T@r gefd @ aoT sTeT § (Which of these is not a merit of Straight Line Method)
(a)lzi'qﬁl' T Hed FaT Sl Gl 8IdT (The value of the asset never becomes Zero)

(b)EIﬁa"ﬁ' B &1 T Aol I 3MaTSdr g glar.(No need of calculating depreciation every year

()" qajaﬁnfr e & TfYr e E|§Fr &1 31T g(Calculation of depreciation by this method is very
simple.) (d)3TH ¥ FIS 8T (None of these)

Q32.1571a3T, 2020 ST Teh AT 72,000 T. H T THAT AT JAT 3T @l W 3,000 . I gl TIT FT
AT Siiaet @iel 10 a¥ g, Toreeh g 3afiIse Hed 15,000 %. gl el 3@r veufd & 3efar

¥ K3 ?ITIT (A plant was purchased for Rs. 72000 on 1st January 2020 and spent Rs. 3,000 on its

erection. Estimated effective life of the plant is 10 years with break up value of Rs. 15000, depreciation by Straight
Line Method will be J)

(a)7500 (b)7200 (c)6000 (d)3TH & &S AGT (None of these)

Q33.FATTT ¥ Yeufd & HTaR el Tl dufer & g4 &7 #ed 38 a¥ # §a¥ A1l gren
.(In Diminishing Balance Method depreciation value of an asset will maximum in the ____

(a)37Tcd a¥(Last year ) (b) T & ¥ (Middle year) (c) JUH a¥(Firstyear) (d)3AH & Fig
el (None of these)

Q34.37T8I0T 9T ATl & ARSI & I§ (Interest on Drawing adjustment)

(a)tj\Gﬁ' #H SIST ST § (is added to Capital.)

(b)Cj\Gﬁ' H @ geram AT & (is deducted from Capital.)

(c)tj\\_:rh' # ST SATar %’ 3R CIEESIGRCIGI # AT foRar Srar %’I (is added to capital and debited to. Profit &
LossA/c.) (d) 38 & IS aTgl (None of these.)

Q35. dege #H 3fad Biar.... (Closing Stock in Trial Balance... )

(a) Pl SAUR QT & AT fHar ST gl (is Credited to Trading Account.)

(b) IR @WIaT & AT dur Fafa faawor & geafa smer # fgarar s gl (is credited to Trading Account

and shown in the asset side of Balance-Sheet.)

(c) haer FEufad fTaaxor & Feufa smer & fg@rar Srar g (is shown only in the assets side of Balance-Sheet.)

(d) 3AH & FI$ A& (None of these.)

Q36.2M9R WId & shfsc Y& T 19T sfac 987 & IAer F 3™ g af FI7 Hgallal & : (Total of
credit side excess over debit side In Trading a/c is-)

(@) Yy @mA  Net Profit (b) Hehel @M Gross Profit  (c)Jqcy gl Net Loss (d) @ehel gl Gross
Loss




Q37. 5AH ¥ PieT AT o BTed WIAT SeIlad T o1 el & Which of the following is not an
advantage of making Profit & loss a/c?

(a) Wehel o1 AT E11T T STARNI(Knowledge of gross profitlloss)  (b)aRT & fefRor # gfaen( Tax
calculation) (c)eTaarT &I JaTfd T 1A (Progress of business) (d) T T P
el (none of these)

Q38. HREET & TAFAR #F o9mAr =T 10,000 . Fr (A FEFAT WTd A 31T F =0T (Rs. 10,000
spent on extention of factory charged to Repairs Account);
(a)Suspense a/c Dr. 10000 (b)Repairs A/c Dr 10000 (c)Factory A/c Dr 10000

To Repairs 10000 To Factory 10000 To Repairs 10000
(d) 315 & FI§ =T&r (none of these)
Q39.RER3T & AR AT T FRMerT garT &R SITar g(As per Traditional methods
Errors are rectified by )

(a)ufafSedt &1 &lc #T (cutting the entries) (b)ufafSeat & fAer &3( Erasing the entries )

(c) 3UgFd FUR & giafsel(By suitable entries of rectification)  (d) g=7 @l (By All)

Q40.9R A= TEfaar 15000 0 fassa 25000 #T8T -1500 Hehed o1 9000 T - 13650 ar 3ifasd e
&I IuET S| ? (Opening Stock Rs 15000, Sales - Rs 25000. Frieght - Rs 1500, Gross Profit-
9000, Purchase 13650, then calculate closing stock.)

(a) ® 9630 (b) 14500 T (c) 15000 &o (d) 14150
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SECTION A

Q1.fafATgT & g o Jav] (Give two benefits of Bill of exchange)

Q2.7Fufad faavolr $r ar AVt S v, (State two features of Balance sheet.)

Q3.8 o9l & ar 97y Cl—ciﬁlﬁ?ff & A1 foId. (State two methods of providing Depreciation.)
Q4.§HN@WE’HTU.( Give rectification entries) (i) REATSTET & UTCd 500 ¥. I AT & @I H AT

R fear g (Rs. 500 received from Rimjhim has been credited to Radhika Account);

Q5.8 SEr T af  faAwar3it I ford. (State two features of Cash Book.)
Q6 .[qUT T AT TR FEd & ?(What is meant by Dishonoring of Bill of Exchange?)
Q7.5 WTdT sellel & &I o V. (Give two Advantages of preparing Trading Account.)

SECTION B
Q8. 3dedl WIdT AT Hel-Tqeh GIdT e FATAT SATAT £.(When Do we make suspense account?)

Q9. deue tg 3NfAe facer A 3=aX sasu| (Differentiate between Trial Balance & Balance
Sheet.)

Q10.faf#T 9 & FAHAT a1 (Give the Specimen of Bill of exchange.)
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Q11. faFagT & Fia & I 98TFR gid & 937 H g’ (How many parties are there in
a Bill of Exchange, explain briefly.)

Q12. YR T FfAfee TTT Give rectification entries: (A) SATRT & 850 T. ITo G wifehed Ffeishl & @A
AT T fear =T ( A sum of Rs. 850 was received from Etwari but’s Account has been Credited to

Monica’s A/c);  (B)1650 %. 3T HTeT Sl HIelT & s fRITIAT Y, 3H ofTel o Wi H THT HX AT AT
(Goods worth Rs. 1650 has been purchased from Bhola on credit but Lal's Account has been Credited);

Q13. 7T % cilel SRUT GHSITT. (Explain briefly three causes of Depreciation.)

Q14.1>I?n_:j:' EI%T SEISIES) §$ F AW F 3aT F I FROT ElFITEf.(State three causes of difference

between the balances of Cash Book and Pass Book)

SECTION C

Q15.1 378eT, 2007 T HFTAT o 80,000 & H Ueh AN T HiT 3R 10% al¥er dr a7 4
AT G YSHTd & G Hieat &l 0 forar| 1 Selrs, 2008 T HMT 1 weh e foraen
QETRT Hed 1 31T, 2007 T 16,000/- FTJ AT 10,000 T4 H SAT| HETell T GEIHT #2007

g 2008 & ast & fow #f=rr @rar de1ST| A Company purchased a Machinery for Rs. 80,000 on 1st
April, 2007 and decided to write-off depreciation at 10% annually on diminishing balance method. On 1st
July, 2008 a part of the Machinery valued in the books of the firm at Rs. 16,000 on 1st April, 2007 was sold
for Rs. 10,000 Show Machinery Account in the books of the company for the years 2007 and 2008.

Q16.1375F¢s, 2020 FI {1 o R 18,000 . T ATl 47| FH AR AT RG A I o earT ford
8,000 %. & &l HTE o fad= 9 319l Tehfcl & & Jalr =¥ & Ty qep oo ohr 37vret o1 T 3ik e
fATRr oX Sweht e 3 el o forw ¥ feram | & ERTeT e T e & et Al 315 o faoay 1 sgerarer 27
A grarcaer i &, a1 aur R & gEdent 7 Asierraran gfafsear HIfST (0n st October, 2020,

Reena sold goods to Ritu for Rs. 8,000. On that date Ritu accepted a bill drawn upon her by Reena at 2
months for Rs. 8,000. Reena retains the bill till due date and on the due date and sends the same to the
banker for collection. In due course, Reena receives the information from the Bank that the bill has been
duly met. Pass Journal Entries in the Books of Reena and Ritu )

Q17. RfFe 97 g gfaargs & I 3ia sdv . (Give the difference between Bill of Exchange and

Promissory note .)

Q18.ffe geafaat 1 aeffertor FIFSFT vg Ie7hT carEar HITAT| (Classify various assets and explain

them.)

Q19. 31ART 2020 & AT g ay & fav Y Afead =1 Fe=afaf@a aage &( Following is the
Trial Balance of Mr. Rohit as on 315t March 2020)



faeROT( Particulars) Amount | Amount

9ol (Capital) 40000

URfA* WIAAT (Opening
Stock) 10000
qehs(Cash) 8000

T (Purchase) 30000
fashT (Sales) 50000
%I dTgdT (Purchase Returns) 1000
Teg amadr (Sales Returns) 3000
YcdaT <II (Direct

Expenditure) 3000

ddsT (Salaries) 11000

39ERT (Furniture) 6000
foRTT(Rent) 5000

AT ALY

(Debtors/Creditors) 30000 15000

106000 | 106000

Jifaerd T (Additional Information) :

(i) 376 ddeT (Outstanding Salaries ) 1,000%.

(ii) 3T9TCT F}OT 39Tl ITSAT (Write off Bad Debts) 1,500 ¥

(i) 3TFEPT W 10% FT &I T g ST (Charge depreciation on furniture @ 10% pa ):

(iv) 31-03-2020 T e TEIAAT (Closing Stock on 31-03-2020) 18,000%. 31 HT, 2020 I HHATCA
gcaﬁa%%msmqmm,ma-mﬁrmuﬁw%ﬁraﬁﬁaﬁﬁawéwaﬁﬁm (You

are required to prepare Trading Account, Profit and Loss Account for the year ended 31st March, 2020 and
a Balance Sheet as on that date.)



